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1. o RSP oF o o ww Tew AR
e : 1x5=5

Choose the correct answer from the following
alternatives in each question :

(a) TR GBR ToNeR AN (TR

The number of components in a time
series is

(i) T/ two (i) TfRb1/three
(iii) OIf¥B1/four (iv) “obI/five
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(b) PHIFEE 4T 9 =
Index numbers are expressed
(i) 9 TI©
in percentage -
(f) =TS [TS
in ratio

(iii) AW T WIS
' in terms of absolute value

(iv) S THIRILHI

All of the above

(c) ﬁaﬁmﬁhb‘lﬁmm

Demand for luxuries is always

(i) R

elastic

(i) SRfeme

inelastic

(i) yrEFed 79 Rfdwem

comparatively less elastic

(iv) SR 9BI8 I
None of the above
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(3)

(d) =T AR e wie |

(e}

8P/301

Vital statistics is mainly concerned with

(i) R TS
birth

fii) Ram =T

marriage

(iil) TR =TS
death

(iv) SR BRI

All of the above
Teonfie AR IS RIS (TR

Random variation in the manufactured
product is

() FEzIs=

controllable

(i) Az =y

not controllable
(i) (i) S (ii) TCAO!
Both (i) and (ii)

(iv) S’ b8 T
. None of the above
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2. TR PNIPBR oY Te iy 2x5=10

Answer the following questions in brief :

(a)

(b)

{c)

(d)

(e)

8P/301

TR AR 2R I R qE 2

What do you understand by secular
trend in time series?

PIT i B @ W Ry wd@i
OFH 33 I R 0

What do you mean by index number?
Why is index number called as economic
barometer7’ L

fﬁiﬁﬁﬂ\#ﬂ{ﬁlﬁﬁs{ﬁl?mw\'ﬂ?
TR BT & R 2

What do you mean by the term vital
statistics? What are the different sources
of vital statistics?

SRR R Rfwerror s fg |

Define income elasticity of demand.
Sl R Rems ofm fugs @
et S fag e R @

What do you mean by process control’

and product control in industrial
statistics?
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3. (@ TEET R WA Trewr B R TR
R @ " Re@ W F1 FEEN
Renm Toen 2 S 2+1+242=7

What is a time series? What are its
components? Explain any one of them.
What is the purpose of time series
analysis?

[ /Or

B @ T LN AF ey I AR TS
af3F eI (FCTCR P T =], Irm T4
3%+3%=7
Describe how secular trend can be
determined by using the method of
moving average and the method of
least squares. :

4. (@) T PIT B2 T OPIAT M IS T
@R PARA R TEy ) S IR
o] STRCMI TpFRT A U : 143+3=7
What is price index number? Mention '
the problems that are involved in the
construction of an index number of
prices. Construct Laspeyres’ price index
number from the following data :

7 R s
Articles Base period Current period
Po (1] 41 il
A 15 10 20 15
B 12 16 15 25
C 18 25 22 30
D 26 30 32 35
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&Y /Or

() €= R W paE R Q@ R ™
PIRF o RiSH =g Recy v w411
Tl SR o & iR T PR AW
A T wF (TR weTweR WY IR I

1+3+3=7

What is cost of living index number?
Explain the methods of constructing
cost of living index number. What are the
uses of cost of living index number?
Find the cost of living index number
from the following data and interpret

your result :

o

PIRF Lai
Heads Indices Weight

4 (Food) 352 48
T3 (Clothing) 230 10
MWﬁqﬂ. . 220 8
(Fuel and lighting)
¥ T¥ (House rent) 160 12
S (Miscellaneous) 190 24

5. 3 SfRA T P=10-x W, T P =63
IR VIR g A w1

If th.e demand function is P=10 -x, then
obtain the price elasticity of demand at P = 6.

8P/301
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)

7. (a)

(b)

8p/301

(7)

woifts TgR 7@ R weile TgR |

PO B oAFS ol T 7 RS TPH A

S TS T T T 6 [0 FM1
2+2+3=7

What is crude death rate? Is crude death

rate an accurate measure of mortality?

~ Explain the difference between crude

death rate and standardized death rate.
&3 /Or

wgR WerR W Frea B om?
(i) SRS TR TR, (i) MRT T©R |/
o (i) 35 SETOR TR WH fw 1 142+2+2=7

What do you mean by fertility of
a population? Define (i) crude birthrate, -
(i) general fertility rate and (i) total
fertility rate.

R @1 fage P B @ S
R AT S IR R 55 wweaw=
F | IS QR SEGYR IR HTEAG
0| 2+3+2=7

What do you understand by statistical
quality control (SQC)? Discuss briefly its
need and utility in industry. Also discuss
the causes of variation in quality.

qeqr /Or

c-far IR R 7
Write about the application of C-chart.
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( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

L. oW REPRR A1 ol o ws Seadh al
et : 1x8=8

Choose the correct answer from the following
alternatives in each question :

fa) ¥ IR R M4ma o B Gy
' AT 4P FACAN NG Lz

The general decline in sales of cotton
clothes is attached to which of the
following components of time series?

(i) TR e

Secular trend

(i) ¥guie 5

Seasonal variation

(ii}) v&m Roaq

Cyclical variation

(iv) Aqee Rvgq

Random variation
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(b) =@ R S I |
Vital statistics is obtained through

(i) CETRPEE & a[

census operation

(i) G @Y aHl
registration system

(i) TR TSI T
survey method

(iv) SRR SBRTIRO!
All of the above

) SR%S IRFI FOTR

The faults due to assignable causes
(i) wreAR i
can be removed
(ij) SRR GWIR
cannot be removed
(iti) ITE A AR AR
can sometimes be removed

(iv) S1RR BRI
All of the above
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(@) PIA ol T ='3 s

The base period for an index number
should be :

(i) <% I
a year only
| (i) @B MR I
| a normal period

(iii) TR WS I

a period at distant past

fiv) SR bS]}
None of the above

fe) IR Hifds Fifos swehi Lz

Mostly preferred type of average for
index number is

i) TNIBY qiy
arithmetic mean

(i) BTMER Y
geometric mean

(i) [ES TNy
harmonic mean

| (iv) €3 <bls w2y

None of the above
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(h R3 ASNPE TA WF HIF TMTR T
5o 04 T TR (R

The relation between expected value of
R and standard deviation o with usual

constant factor is
(i E(R)=do
(ii) E(R)=dy0
(iii) E(R)=Dyo

(iv) E(R)=Dy0

(g &= o IR F W
A life table is mostly utilized by

() 8w N RS T

life insurance companies

(ii) SR A EFTEANERT A0

general insurance companies

(iii) e Rt @I &

employment exchanges

(iv) @°RA STHIILB!
All of the above

8P/301
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(h) IF IWTS AR G (IR =W

Demand for goods having several uses
is called

() Rfeme vk,
) elastic demand
(i) wiRfeweR sz
inelastic demand
(i) ¥ Bfome wldm
less elastic demand
(iv) > SRfeEers vl

perfectly inelastic demand

2. OO LICFRN Y Te fam 2x8=16

Answer the following questions in brief :

(@) A A e & @m0
What do you understand by secular
trend?

(b) T TeF A 2

What is time reversal test?

() T O TFR W WS JgR I g
e wRY &7 R R @re @
*qWA?

What are the defects in comparing
mortality situations between two regions

by means of their crude death rates?
How can these defects be eliminated?
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([d) @R 9% AR oA IF WF AE IF

(e)

(9)

(h)

8P/301

e ¥ D=19-3P-P2 W% S=5P-1
g @ W Ry T fdy #101

The demand curve and supply curve
of a commodity are given by
D=19-3P-P2 and S=5P-1. Find
the equilibrium price and quantity
exchanged.

AR w1 Fgre foge Ba e
®w?

What do you understand by control
charts in statistical quality control?

C-foar N Tay 7 ez—
Mention the limits of C-charts if—
(i) TS o A
standards are given;
(i) TR fam AT |
standards are not given.

@aﬂ@ﬁaﬂa%ﬁmwﬁww:ﬁl

Mention three uées of life table.

s e R oftm vk AT e
&

What is demand function? State the
mathematical demand function.
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3. (@) IR RRH BRI B B2 S

()

& | 4. (a)

8P/301

st o fim | v o g@i WA @RS
oRTO FTTA Py T =W, I w0
2+4+4=10

What are the different components of

a time series? Explain them with
examples. Explain how secular trend
can be determined by the method of
moving averages.

T /Or

IECA Fpufe 539 O 58N R woe
M &2 Bov ARG R Fa1 b1 omfa
Rs@ 3t 74 2+4+4=10

Distinguish between seasonal variation
and cyclical variation of time series.
Describe one method of determining

. each of these.

P P R w2 R peeame am
TEy 901 P Rive Izt Ry S
1 | I MReeEE ¥ 2
2+2+4+3=11

What do you mean by the term
‘index number? Write down the name
of different indices. Mention different
uses of index numbers. What are the

limitations of index number?
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_q4N /Or

®) T PIE R T OPAR T FACS T
ca Rfew SR Rec Smy Fa1 2+9=11

What is price index number? Mention
the problems that are involved in
the construction of an index number
of prices.

5. iRw o ffmere R 7 o 3@ x=}}%=unza

ofim ou fgerre RAda w0, afn P=2 1
: 2+5=7

What is price elasticity of demand? Find the

price elasticity of demand for the demand

, when P=2.

: 10
curve x =
‘ P+1

6. (a) woifts 73 T3 wiF R T 79 39 F0)
AR T TR SR T T Tegd R
AR AT W TS 1wt 39

5+9=14

Describe crude and standardized death
rate. In what way, standardized death
rate is superior to crude death rate?
Describe the direct and indirect methods
of finding standardizt_ed death rates.
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1T /Or

{b) EPRYR TEEOR RIS (FR I INGS
fofr o R 3 71 W WA 3Re
e Rt WRRI WY R S
1 WS YS9 @, NRR<GRR

’ 3+3+3+5=14
Describe three measures which are in
the use for determination of the fertility
trend in a population and discuss their
utility as indices of population growth.
Also show that NRR < GRR.

7. & wFRI R 7 T Qi SRR @ R Ryc
A 391 Qe o 93 9 TETS T390 T
o1 v R B, e &= oRer
IR Raew foran 2+6+3+3=14
What is a life table? Describe the structure of
complete life table. Write three assumptions

involved in the construction of a life table
and also give the uses of such a table.
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